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Note :– This paper is of Seventy (70) marks divided into

two (02) Sections ‘A’ and ‘B’. Attempt the questions

contained in these Sections according to the detailed

instructions given there in. Candidates should limit

their answers to the questions on the given answer

sheet. No additional (B) answer sheet will be

issued.

;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

[k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. What are the provisions of tax deducted at source under

the following incomes ?

(a) Income from horse race

(b) Winnings from cross-word puzzles

(c) Insurance commission

(d) Payments to contractors or sub-contractors

(e) Interest on securities
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fuEufyf[kr vk;ksa ij mn~xe LFkku ij dj dh dVkSrh ds lEcUèk

esa dkuwu ds D;k izko/kku gS \

(v) ?kqM+nkSM ls thr dk buke

(c) oxZ igsyh ls izkIr gksus okyk buke

(l) chek deh'ku

(n) Bsdsnkjksa o mi Bsdsnkjksa dks fd, x, Hkqxrku

(b) izfrHkwfr;ksa ij C;kt

2. What do you mean by exempted income ? State any 10

incomes which are exempted under the Income-Tax Act,

1961.

djeqDr vk; ls D;k vk'k; gS \ ,slh nl vk;ksa dk mYys[k

dhft, ftUgsa vk;dj vf/kfu;e] 1961 ds vUrxZr djeqDr

fd;k x;k gSA

3. What do you mean by perquisites ? What are tax-free

perquisites ? Explain the rules regarding valuation of

rent-free accommodation.

vuqykHk ls D;k vk'k; gS \ djeqDr vuqykHk dkSu ls gSa \ jgus

ds fy, edku dh lqfo/kk ds ewY;kadu ds lEcU/k esa fu;eksa dk

mYys[k dhft,A
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4. What do you mean by block of assets ? What is the

procedure for calculation of written down value of a

block ?

lEifÙk;ksa dk [k.M D;k vk'k; gS \ lEifÙk;ksa ds fdlh [k.M

dk vifyf[kr ewY; fudkyus dh D;k fof/k gS \

5. From the following information compute the taxable

income and net tax liability of H.U.F. for the Assessment

Year 2022-23 :

(i) Rent received from house property ` 6,000 p.m.

(ii) Municipal valuation ` 50,000

(iii) Local tax 10%

(iv) Income from business ` 2,90,000

(v) Short term capital gain ` 15,000

(vi) Long term capital gain ` 30,000

(vii) Dividend received from U.T.I. ` 10,000

(viii) Income from lottery (gross) ` 50,000

fuEufyf[kr lwpukvksa ls dj fu/kkZj.k o"kZ 2022-23 ds fy,

H.U.F. dh dj ;ksX; vk; vkSj 'kq¼ dj ns;rk dh x.kuk

dhft, %

(i) x`g laifÙk ls izkIr fdjk;k ` 6,000 p.m.
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(ii) uxjikfydk ewY;kadu ` 50,000

(iii) LFkkuh; dj 10%

(iv) O;olk; ls vk; ` 2,90,000

(v) vYidkfyd iwath ykHk ` 15,000

(vi) nh?kZdkyhu iw¡th ykHk ` 30,000

(vii) ;w-Vh-vkbZ- ls izkIr ykHka'k ` 10,000

(viii) ykWVjh ls vk; (ldy) ` 50,000

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

[k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa]

izR;sd iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa

dks buesa ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. How is the assessment of firm done under the income

tax act ?

vk; dj vf/kfu;e esa QeZ dk dj fu/kkZj.k fdl izdkj gksrk

gS \
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2. What are the provisions for set-off of losses ? State

those losses that can be carried forward.

gkfu;ksa dh iw£r ds D;k izko/kku gS \ os gkfu;ksa fyf[k, ftUgsa vkxs

ys tk;k tk ldrk gSA

3. Explain, direct tax and indirect tax.

izR;{k dj rFkk vizR;{k dj dks le>kb,A

4. Under how many heads, income has been distributed

under Income Tax Act ?

vk;dj ds vUrxZr vk; dks fdu 'kh"kZdksa esa ckaVk x;k gS \

5. What are the rules under income tax for house rent

allowance ?

edku fdjk, HkÙks ds lEcU/k esa vk;dj lEcU/kh fu;e D;k gS \

6. Define the agricultural income with example.

Ïf"k vki dks mnkgj.k lfgr ifjHkkf"kr dhft,A

7. Calculate the total income of Mr. Gopal Das :

(i) Interest on securities ` 20,000

(ii) Money received from card games ` 10,000

(iii) Winning from house race ` 25,000
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(iv) Income from sale of 100 years

 old house ` 1,50,000

(v) Interest received from bank ` 2,50,000

(vi) Money deposit with Life insurance

corporation ` 1,40,000

Jhxksiky nkl dh xr o"kZ dh dqy vk; dh x.kuk dhft, %

(i) izfrHkwfr;ksa ij C;kt ` 20,000

(ii) rk'k ds [ksy dh izkfIr ` 10,000

(iii) ?kqM+nkSM+ ls thr ` 25,000

(iv) 100 o"kZ iqjkus edku ls foØ; ij ykHk ` 1,50,000

(v) cSad ls izkIr C;kt ` 2,50,000

(vi) thou chek izhfe;e ds tek fd, ` 1,40,000

8. State the provisions of section 80 G of income-tax act.

vk;dj vf/kfu;e dh /kkjk 80 G ds izko/kku fyf[k,A

**************


